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2 MATHEMATICS PL/WISKUNDE V1 (EC/INOVEMBER 2019)

QUESTION 1/VRAAG 1

1.1 111 | x=2 vVix=2
1)
112 | x-2<0 vVx—2<0
X<2 vVix<2
Answer only: Full marks
Slegs antwoord: Volpunte (2)
1.2 121 | (a—2)a?+2a+4) v 3
1.2.2 a 1 a_ ‘/a_z
2 2 4
2 v -1
a
. @
1.3 1.3.1 2X2 —-X-6 v (2X+3)
= (2X+3)(X—2) v (X—2) )
132 | (a—b)* —100c? v (a-b-10c)
=(a-b-10c)(a-c+10c) v (a-c+10c) (2)
[11]
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(EC/NOVEMBER 2019) MATHEMATICS P1/WISKUNDE V1

QUESTION 2/VRAAG 2

21 |211 | x(x+5)=0 v'x=0
x=00r x=-5 Y x=-5
2)
212 | 2x+1_3x+1 v 4(2x +1)=3(3x +1)
3 4 V' 8x+4
4(2x+1)=3(3x +1) v 9x+3
8X+4=9x+3 vix=1
x=1 (4)
22 [ 2(4-3%)>20 v'8-6x
8—6x> 20 Y —6x=12
—6x>12 Vx<-2
X< -2 3)
2.3 a+b=12............. (1) va=12-b
4da+2b=44.......... (2) /4(12—b)+2b:44
From (1).....a=12-b v 48 —4b + 2b =44
412 -b)+2b=44 Vb=2
48 —4b+2b =44 va=10
—2b=—4
b=2
a=10
OR
From (1)....b=12—-a vb=12—-a
da+2(12-a)=44 vida+2(12-a)=44
4a+24 —2a =44 v 4a+24 —2a =44
2a =20 va=10
a=10 vbhb=2
b=2
OR
4da+4b=48.......... 3) v v 4a+4b =48
3)-©) vV 2b=4
2b=4 vVb=2
b=2 v a=10
a=10
OR
2a+2b=24 .......... 3) v vV 2a+2b=24
(2)- () v’ 2a =20
2a =20
a=10 ::Z::lg
b=2 ®)
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4 MATHEMATICS P1/WISKUNDE V1 (EC/NOVEMBER 2019)
2.4 Son/Seun Sipho v 7x+25
Now/Tans X 7x v 2(x+25)
In 25 years X+ 25 7x+ 25 v 2% + 50
Equation: v Bx — 25
Oor 25jaar 7X+25=2(x + 25) <=5
vergelyking v'His son is 5 years old/Sy
7X + 25 =2x + 50 seun is 5 jaar oud
5x =25
x=5
His son is 5 years old/Sy seun is 5 jaar oud. (5)
[19]
QUESTION 3/VRAAG 3
3.1 3.1.1 |11and/enls v’ for both 11 and 14
1)
312 |T,=3n-4 v 3n v _4
)
313 [ T,=3(33)-4=95 v3[33)-4 vos
)
314 | 3n-4=83 v'3n-4=83
3n =87 v'n=29
n=29 (2)
315 | 3n-4=116 v'3n-4=116
3n=120 v'3n=120
n=40 v'n=40
(©)
3.2 3X+2-(x+3)=6x-1-(3x+2) v 3X+2-(X+3)
2x—1=3x-3 v 6x—1-(3x+2)
X=2 vV 2x—-1=3x-3
Vx=2
(4)
[14]
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(EC/NOVEMBER 2019) MATHEMATICS P1/WISKUNDE V1 5
QUESTION 4/VRAAG 4
4.1 Amount/Bedrag = 18, 18 x 3569 = R64 884, 42 | v'R64 884, 42
1)
4.2 4.2.1 | Loan/Lening =0, 85 x 379 000 = v0, 85 x 379 000
R322 150 v'R322 150
OR/OF OR/OF )
Loan/Lening = 379 000 — 0,15 x 379 000 | v'379 000 — 0,15 x 379 000
= R322 150 v'R322 150 2
422 | A=P(L+in) v A=P(l+in)
A=322150(1+0,225 x 4) v A=322150(1+ 0,225 x 4)
A=R612 085 v A=R612 085 (3)
4.2.3 | Instalment/Paaiement v 48
_ 612085 _ R12751.77 v R12751,77
)
43 A=P@+i) v A=PQ+i)
96714,02 = P(1+0,067)° v 96714,02 = P(1+0,067)°
p_ 96714,02 v P = R65539,47
(1,067)°
P = R65539 47 3)
[11]
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6 MATHEMATICS P1/WISKUNDE V1 (EC/NOVEMBER 2019)
QUESTION 5/VRAAG 5
51[511 [y=-1 vy=-1 (1)
512 ! f: v/ x—intercept/afsnit
? v’y — intercept/afsnit
6
; 4 g:
v’asymptote/asimptoot
1 v origin
3 ] v'shape/vorm and
intersection
/
43 2 | 2 3 4
2
3
4
(©)
513 | (2;3) V2 v'3
5.14
9(-D=-3 Vo) =—3
g =1 vo@)=1
e 1
. [
Mave = =7 2
1_(_1) 4 ‘/mave:—
1-(-1)
3
vm ==
ave 4 (4)
5.2 5.2.1 m = tan 45° :1 v 1
1)
522 | y=X vVy=x (1)
v
523 | 43¢ 6
6
y [
X
vViy=_—
y =
)
524 | A[V6;6) vie v )
[11]
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(EC/NOVEMBER 2019) MATHEMATICS P1/WISKUNDE V1 7
QUESTION 6/VRAAG 6
6.1 f. y=ax’*+q v0=a(-2)’+8
0=a(-2)*+8 va=-2
4a=-8 vVy=-2x"+8
a=-2
y=-2x*+8
g mo—4-0 __
. S 0-(-2) jm:—g .
y=-2x-4 y=-eX- (5)
6.2 F (1,6) v F(L6)
G(1,-6) v G(L-6)
FG = 12 units/eenhede v'FG = 12 units/eenhede (3)
6.3 ly:y<8yeR} vv {y:y<8yeR} )
OR/OF
— 8 Vv (-8
(=8 () o
6.4 —2<x<?2 x>-2 v andlen x <2
v )
[12]
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MATHEMATICS PL/WISKUNDE V1

(EC/NOVEMBER 2019)

QUESTION 7/VRAAG 7

71710 T o -2 onofo29 vV P(A) =2 oriof0, 29
7 7 (2)
7.1.2 P(V) = § or/of 0,43 vv P(V)= § or/of 0, 43
; 7 )
7.1.3 p(c):f or/of 0,57 ‘/F’(C)=f or/of 0, 57
7 7 (1)
72 |721 V2
Class/Klas = 30 V3
v'9
R S v 16
16
(4)
722 |16 _8 .o vvi0_8 (53
30 15 30 15 (2)
7.2.3 (a) E:1:0’47 \/‘/E=1:0747
30 15 30 15 @)
® ]9 _3_, IS o3
30 10 30 10 (2)
[15]
TOTAL/TOTAAL: | 100
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